
　反射テスト　割合　歩合　割引きの基礎　01

1. 　次の 　　 をうめよ.（ S 級 25秒, A級 45秒, B 級 1分, C 級 1分 20秒 ）

（1）　 Aの 1割引き = A × 　　 （2）　 Aの 1分引き = A × 　　

（3）　 Aの 2割引き = A × 　　 （4）　 Aの 4割 5分引き = A × 　　

（5）　 Aの 2割 7分引き = A × 　　 （6）　 Aの 1割 8分引き = A × 　　

（7）　 Aの 1割 2分 8厘引き = A × 　　 （8）　 Aの 6割 4分 2厘引き = A × 　　

（9）　 Aの 2分 1厘引き = A × 　　 （10）　 Aの 1.5割引き = A × 　　
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2. 　次の 　　 をうめよ.（ S 級 25秒, A級 45秒, B 級 1分, C 級 1分 20秒 ）

（1）　 A × 0.9 = A の 　　 割引き （2）　 A × 0.93 = A の 　　 分引き

（3）　 A × 0.74 = A の 　　 割 　　 分引き （4）　 A × 0.65 = A の 　　 割 　　 分引き

（5）　 A × 0.88 = A の 　　 割 　　 分引き （6）　 A × 0.58 = A の 　　 割 　　 分引き

（7）　 A × 0.95 = A の 　　 分引き （8）　 A × 0.92 = A の 　　 分引き

（9）　 A × 0.875

= A の 　　 割 　　 分 　　 厘引き

（10）　 A × 0.987

= A の 　　 分 　　 厘引き
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http://www.enjoymath.sakura.ne.jp/index.html


　反射テスト　割合　歩合　割引きの基礎　01　解答解説
1. 　次の 　　 をうめよ.（ S 級 25秒, A級 45秒, B 級 1分, C 級 1分 20秒 ）

★元の量の割合は 1

（1）　 Aの 1割引き = A × 0.9

1− 0.1 = 0.9倍

（2）　 Aの 1分引き = A × 0.99

1− 0.01 = 0.99倍

（3）　 Aの 2割引き = A × 0.8

1− 0.2 = 0.8倍

（4）　 Aの 4割 5分引き = A × 0.55

1− 0.45 = 0.55倍

（5）　 Aの 2割 7分引き = A × 0.73 （6）　 Aの 1割 8分引き = A × 0.82

（7）　 Aの 1割 2分 8厘引き = A × 0.872 （8）　 Aの 6割 4分 2厘引き = A × 0.358

（9）　 Aの 2分 1厘引き = A × 0.979 （10）　 Aの 1.5割引き = A × 0.85
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2. 　次の 　　 をうめよ.（ S 級 25秒, A級 45秒, B 級 1分, C 級 1分 20秒 ）

（1）　 A × 0.9 = A の 1 割引き

1− 0.9 = 0.1引き

（2）　 A × 0.93 = A の 7 分引き

1− 0.93 = 0.07引き

（3）　 A × 0.74 = A の 2 割 6 分引き

1− 0.74 = 0.26

（4）　 A × 0.65 = A の 3 割 5 分引き

1− 0.65 = 0.35

（5）　 A × 0.88 = A の 1 割 2 分引き （6）　 A × 0.58 = A の 4 割 2 分引き

（7）　 A × 0.95 = A の 5 分引き （8）　 A × 0.92 = A の 8 分引き

（9）　 A × 0.875

= A の 1 割 2 分 5 厘引き

（10）　 A × 0.987

= A の 1 分 3 厘引き
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